Year 2 Division - Maths Day 3 Word Problems 					10.6.2020  
You will need your multiplication and division skills to complete these word problems – try to write the calculation you used as well, e.g. 5 x 4 = 20 or 20 [image: See the source image] 2 = 10, etc. Take your time and use whichever strategies you need to help you – working out on paper may help as well – like we do in school.
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1 look after 5 dogs. I have 30 biscuits to
share equally between them. How many
biscuits can I give to each dog?
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Adults can take 5 children each to the
cinema in their cars. If 40 children are
going to the cinema how many cars are
needed to take them?
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1 plant 80 carrots, 10 in each row. How
many rows of carrots do I plant?
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I bake 50 buns. If I put 5 in each bag for
my school cake stall how many bags will 1
fillz
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T have 20 spare football cards. T share them
equally between my 5 friends. How many
cards will they get each?
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T can see 18 hands. How many people can 1
see?
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There are 20 sunflower seeds in a packet. If
1 divide them equally between 10 pots, how
many seeds will be in each pot?
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4. All four judges gave
the dancer a score of 5.
How many did she score
altogether?

5. Six people came to the
show and they paid £5
each. How much were
the ticket sales
altogether?

)

6. There are 3 flowers
in the garden. Each
flower has five petals.
How many petals
altogether?

7. Sam has 6 packets of
biscuits. Each packet has
10 biscuits in it. How
many biscuits are there
altogether?

8. There are 4 seats in
each cart on the ride.
How many seats are
there in 10 carts?

9. There are 20 owls in
Carol's collection. She
can house 10 owls in
each cage. How many
cages will she need to
house all the owls?
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7. Sam is sharing biscuits | 8. A machine making 9. Carol gives half of

between himself and his | sweets puts 10 in each her owl collection to
four brothers. If there are | packet. If the machine her sister. She has 35
25 in the pack how many | has produced 70 sweets, | owls remaining. How

get how many packets can it [ many did she have to

? fillz 10 Sweets | start with?
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T have 50p. All my coins are 10ps. How
many coins do I have?





